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PART A — & 99

I. (a) What is a market economy ?

TG s f e

(b) Fill in the blank :
@ppoettunity cost is alsesealledthie™. ... e o . cost.
el o2 ol = 2 ) -
EAPIRRRED i e s T Jfere (R = |

(¢c) Deline utility.
ool kel |

(d) What is marginal revenue ?
difes el oy e
(e) Draw a very short-run supply curve for perishable commodities.

TR ANG N OIS ZHFEE @S @A GO w54 |

(/) Give an example of fixed cost.

%2 9 95! Swe |

8]

State two central problems of an economy.

SLAE bl g A fei |

3. Why is an isoquant negatively sloped ?

A-GRAM (] TR R AT A GAIRICe eitsT A 2

4.  State any two factors affecting the supply of a commodity.

9Bl TR @9l eieifis =1 R 1ol wEee fa o

5. Distinguish between short-run and long-run.

TS S KIS ALy B |
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10.

State two reasons behind the working of the law of diminishing marginal product.
9)

SREPHIE difes Sesiive [ikchie Sreer wiTe 9= 567 wike o

Write down the concept of normal profit. ; 2

Freilas sireg L=es! &)

What is price clasticity of demand ? Mention any three important factors determining,
price clasticity of demand. ; 3
bifewia v fefogisieel /52 siftwm v fFfozisivel Fafad w1 fir@sm GG sy @
T 4|

Suppose, when the price of a commodity is Rs. 10, the quantity supplied is 20
units. As price increases to Rs. 15, the quantity supplied increases to 30 units.

" Calculate the elasticity of supply. 4

{4 T, Bl AT TN 10 Gl L0 BAR T SR 20 g 21| AR wiw
15 Gsica <ifora camiee =ifE=e 30 &Wmiﬂiwmﬂmﬁ%@ﬂmw e w4 |

The total cost (TC) schedule of a production unit is given below. Find out the
average cost (AC) and marginal cost (MC) schedules for the production unit.
\ 540
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I1. Show the relationship between average cost (AC) and marginal cost (MC) with the
help of a diagram. 4

e T (AC) WIF 20 7 (MC) T 7ol i1 B S Y€l |

12. Write down four characteristics of a perfectly competitive market. 4
1 eferifionE T BIRG! @Ry ferar
13. State and explain the law of demand with the help of a diagram. 6

sﬁmﬁﬁmm@wmmm@waﬂmwl
OR / 52y

Explain the concept of short-run equilibrium of a monopoly market assuming zero
cosl.

@Q?ﬂﬂﬂﬁ?ﬂﬁﬁ%{%ﬁ?ﬁﬂ%ﬁﬂ%ﬁ@ﬁh%ﬁﬁ%ﬁ@ﬂﬂﬁl

14, ~In perfect competition, AR = MR but in monopoly AR >MR .» Iixplain.
“11 eferifronER @R AR = MR, Re @api e AR > MR ” — 7071 <o |

OR / 924t

The demand and supply functions of a firm under perfectly competitive market are
given below :

D=25-5P

S=-5+10P
where, D = quantity demanded, S— quantity supplied and P — price. Find the
equilibrium price, quantity demanded and quantity supplied.

ﬂ%ﬁﬁaﬁwwwmawmﬁmm Q6NN Foi oo T e ¢
D =25~ 5P :
S=-5+10P

¥, D= vifam AfRE, S = @it ARwe e P= W9

O 7, IR Bl S SRy e SR ey 1
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PART B — ¥ 9%

15. (a) In which type of money, the face value is higher than the intrinsic value ?
i 1
@Ry e Sre Y5 R et wiise
(b) Define final goods. : 1
HOTE Bd kel frdl |
(¢c) What is bank rate ? 1
(acs i b2 '
(d) What type of budget should thc government prepare in times of inflation ?
' 1
TR TS SRR (7 4999 A0E6 g Fi N2
(e) State one example of non-tax revenue. - 1
- GEES G5 Svizae Wl
(/) What is invisible trade ? |
sy iferey 52
16. Distinguish between gross investment and net investment. 2
15 e wie wa REGeE Alde @3ed |
17. What is personal disposable income ? 2

i AT Y /62

18. The marginal propensity to consume (MPC) of an economy is 0-9 and suppose, an
additional sum of Rs. 500 crores is invested in it. How much new income will be
generated in the economy ? 2

e @< Elifs Toigeit 2l (MPC) 21 0-9 Ui &l 24, 21s sifefie 500 I
St B F9 21| weRfodTs B o Tgu onE Seolfe 297

24T ECON 54 ; Contd.




19,

(g
N

26.

What is marginal propensity to save ? 2

2iifes ey oRael Ko

Mention /wo main accounts of balance of payments. : 2

(ST~ SIS 767 24l 2oiot Srae a4 )

What does the revenue account of a government budget contain ? ‘ 2

G BEIN] ST ST Bhite [ Ay

Distinguish between consumer goods and capital goods. : 4

(oIl T W kel B o199 o |

The autonomous consumption of an individual is Rs. 500 and his personal disposablc
income is Rs. 5000. If his marginal propensity to consume is 0-8, find out the level

of aggregate consumption. 4

G e FoF (I AR 500 T SiF (097 ARei® acals] S 5000 T | 0ferema
wifes celal waerel 0-8 T'ee, AWNEE (ST AR oo =9 |

What is investment multiplier ? Explain it with the help of a diagram. 4

fafecst @i [ 951 Bas s=Ee 2% T 591

Distinguish between balance of trade and balance of payments. 4

leifern TS F eH-E ATSE ey Bt

Distinguish between plan and non-plan expenditure. ‘ 4

AR wie wsilasire IR e &)

Explain the circular flow of income in a simplified economy with two sectors —
households and firms. ' 6
T 4 WS G AfeVH — B RA9TE <Ol e TLRES Wi bR 2 I
€ | :
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OR / &23Y

Explain the value added method of calculating GDP.
Yo G BoAT ST YET-AAE 2AwSCH! IR 54 |

28. Explain the functions of the RBI.
CeR 61 @@ (RBIF FREIE] << <54 |

 OR / 5371

Describe the speculative demand for money.

T4 FIPTS blfewia ey 291 41
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